718 AlEZdE5U 9 A
718y A oAt w S XU (9] - A Q)
Hopnm R =+ A AFduy el B P 1257 4 20164 714 | 20164 HF
A A A (B) oA AF(A) A4k (A+B)

3HA 2,288,347 93,606,539 95,894,886
s 2,288,347 93,606,539 95,894,886
foldxZE=SuS 2,105,215 90,236,309 92,341,524
QAL L 8,721 2,956,091 2,964,812
2 A D E ] AL A = 8,721 2,925,745 2,934,466
TFJERA Y 8,721 2,925,745 2,934,466
1. AEAFAFI AN R Y 8,721 2,925,745 2,934,466
7F. W F-A ARl A 8] %] Y 8,721 2,925,745 2,934,466
1) A7) 27 A 110-02 [191,9309 x99 x 129 = 4,960 223,060 228,020
2) 7tESFY 110-02 |61,6109 %86 x12€= 1,489 62,100 63,589
3) AP shn| R 24 110-02 |390,140¢9 x 127 x 457 = 1,117 17,610 18,727
4) Z A 320—-04 |1,146,2509 %994 = 348 113,131 113,479
5 AXARY 320-04 780,410 x99 = 332 76,929 77,261
6) =037 Q0kR Y 320-04 |51,5609 x99% = 65 5,040 5,105
7) 1813 320-04 |383,2409%x99%= 230 37,711 37,941
8) AkAx 3 320-04 |230,3709x99% = 180 22,627 22,807
15-&58Tx 9 180,905 1,855,390 2,036,295
AEHAFNELY 50,000 44,540 94,540
A B =N 50,000 9,900 59,900
1. Z§FAANA 50,000 0 50,000
7}, st A A 3 50,000 50,000
1) =AF-9] 210-01 |16,0009 X 8957 = 14,320 14,320
2) L9 LE 210—-15 |4,4309 X 100% X 203] = 8,860 8,860
3) du= 210—01 | 14,0009 x 3w X 40| 7k= 1,680 1,680
4) 393 230-02 139,000 x1038] = 1,390 1,390
5) At (54) 2,000 2,000
7hH 71 &= 210-06 |300,0009 x4 = 1,200 1,200
) 23} 210-06 |200,0009 x4 = 800 800
6) AT (LRh) 1,250 1,250
7hH 71& 210-06 |160,0009 %59 = 800 800
) x3 210-06 90,0009 X594 = 450 450
7) 7 (AR 1,650 1,650
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SREEEEE (5] : 29)

=+ A - Aol el B NESTE 12573 o} 20164 714 | 20164 HF
A A B o s (B) S AH(A) A (A+B)

7hH 7= 210-06 |100,0009x11%= 1,100 1,100

) =3 210-06 |50,0009 %11 = 550 550

8) ZAAtrEE(YHh 18,850 18,850

7hH 71 & 210-06 |70,000¢ x 26338] = 18,410 18,410

W x3 210-06 [40,0009x11%4= 440 440

EXgSAE 905 346,252 347,157

EFnSusssAY 905 325,440 326,345

1. ESaSAJAEHSY 905 325,440 326,345

7h A 54 w5 A A A E - 905 128,194 129,099

1) ZARI71H] 905 36,434 37,339

7h A% 110-02 |2,379,5009 x 12¢ = 828 27,726 28,554

) Az 110-02 |78,2309 x15%= 34 1,140 1,174

o HA=+ 320-04 30,688,000 x1/12= A3 2,561 2,558

b Zmo = 320-04 |31,188,0009 X 4.5%= 21 1,383 1,404

) A7R 3 320-04 |31,188,0009 X 3.035%= 14 933 947

v 18 H3 320-04 |31,188,0009 X 1.5%= 7 461 468

AP A RE 320-04 |31,188,0009 x 1%= 4 308 312

9] Zo] WS 100,000 227,106 327,106

Yo7 WAL B Z AL 100,000 216,800 316,800

1. Yol wAFQI Y] 100,000 216,800 316,800

7} B 68,400 166,200 234,600

D 1+5+% 110-03 |2,700,0009 x5 x 129 = 64,800 97,200 162,000

2) 3RSy 110-03 [150,0009 x 7% x 129 = 3,600 9,000 12,600

L FEdds 110—03 400,0009 X7 x 129 = 21,600 12,000 33,600

t} 3w 2,600 10,000 12,600

1) A5 A eER A 210-15 |1,300,0009 x 2= 2,600 2,600

2t E A= 320-05 |222,000,0009 x1/12= 5,400 13,100 18,500

af, A 2,000 15,500 17,500

1) ZuldAE 320-05 |198,680,0009 X 4.5%= 1,777 7.164 8,941

2) AR d 320-05 |204,600,0009 X 3.06%= 184 6,077 6,261

3) =917 Qokr 3 320-05 |6,261,000¢ X 6.55%= 12 399 411

4) AFA) K8 320-05 |204,600,0009 X 0.621%= 27 1,244 1,271
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(9] - )

53

20164 7173

2016 H=F

= _ =
AEIRS, TS e B) AA(A) | CIAHA+B)
30,000 0 30,000
5 30,000 0 30,000
AZAGEZZ 7RSS 30,000 0 30,000
7} A2 0 SX QA 320—02 [30,000,0009 x 17}7) %= 30,000 30,000
1,011,818 8,700,982 9,712,800
120,000 120,000
L9 120,000 120,000
B RS e i 20,000 20,000
7}, wEWg sy 20,000 20,000
1) 98 210-15 [20,0009 X 10% % 43]= 800 800
2) x5stw 620—03 [3,200,0009 X 631.= 19,200 19,200
2. EE8TZ LY 100,000 100,000
7 AEEE gAY 100,000 100,000
1) ¢ 620—03 12,500,000 x 11= 12,500 12,500
2) 25w 620—03 12,500,0009 X 7= 87,500 87,500
424 791,818 7,230,232 8,022,050
v] =] ¢ 791,818 7,230,232 8,022,050
EXSES-EE S A43,118 1,521,312 1,478,194
7}, 15t A37,608 1,477,782 1,440,174
1) 3¢ 620—03 12,9009 X576% X190 = A12,969 330,049 317,080
2) A+ 620—10 12,9009 2,038 X190 = A24,639 1,147,733 1,123,094
wh, &gl g A w5 Al A ( 320-01 |2,9009 %69 x 1909 = ~5,510 43,530 38,020
EAA G R F4] A81,912 3,526,953 3,445,041
7}, 15 A81,912 3,526,953 3,445,041
1) =9 610—01 1,4509 %9019 x190Y= A1,102 249,328 248,226
2) 29 620-03 |1,45091%3,269% x 190U = 3,581 904,192 900,611
3) A 620—10 |1,4509x8,335% X190 = AT7,229 2,373,433 2,296,204
3. S HFAERAH A D 894,969 894,969
7F 214 620—03 12091x1,2509 X180 = 27,001 27,001
U, x5t 620-03 [1209 % 16,3459 x 1904 = 372,666 372,666
o}, =8k 214,115 214,115
1) 3¢ 620—03 1209x543198 x190Y= 123,827 123,827
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3 = o [e] fe)
718y ﬁﬂf+4£ﬂvﬂﬂﬁ (9] - A Q)
wopvy S0 | 2R | AT NERE 5= REN AT 20068 719 [ 20163 35
AH(A AH(A+
2) A 620—-10 |120€%3,960 x 1909 = 90,288 = . (Ang)%
g} 158w 276,627 276,627
1) =+ 610-01 1209 x905% X190 = 20,634 20,634
2) 3% 620—-03 |12091x3,716™ x1904= 84,725 84,725
3) A+ 620—-10 |120€x7,5128 X190 = 171,268 171,268
ul Eshy 620-10 |120€9 %2007 x 1909 = 4,560 4,560
4. A AEANER Y A16,824 909,404 892,580
7F x4 620—-03 1009 % 1,250 x 1804 = 1,484 21,060 22,544
U 2535w 620-03 |10091x16,163% x188% = 6,680 310,556 303,876
o}, =8k A4544 249,800 245,256
1) 29 620—-03 |140€1x5,443 x 188U = 1,208 144,464 143,256
2) A 620—10 1409 x3,8757 x188YU= 3,336 105,336 102,000
gt 15w AT,284 323,484 316,200
1) =9 610—-01 |14091x901 x190Y= A106 24,074 23,968
2) &% 620-03 1409 x 3,675 x190d= 71,186 98,846 97,660
3) A+ 620—10 |1409¢x7,3927 x 188U = 25,992 200,564 194,572
ul, E4slhy 620-10 [1289Xx194™ x190Y = 200 4,504 4,704
5. A AR Y 38,703 700,900 739,603
7} 829 (67]%) 620—03 759x1,250 X180 = 3,196 13,690 16,886
U 253w ($71%) 620—03 869 x16,1927 x188%= 31,515 229,810 261,325
o}, Zsw 2,252 189,918 192,170
1 32 H71%) 620-03 [1519 X158 X188 = 14 4,388 4,402
2) 23 (Fxok) 620—-03 1099 x5,2927 x 188U = 2,579 105,775 108,354
3) A (552 620—-10 |109¢ % 3,865 x188YU= A341 79,755 79,414
g} 158w 846 263,408 264,254
1) =9 (=9 610-01 |1179x901% x190Y= 426 19,603 20,029
2) 28 (FxoF) 620—-03 |1179x3,6758 x190d= 1,130 80,488 81,618
3) AFY (F-0F) 620—-10 |117€1x7,405 x188YU= AT10 163,317 162,607
—_— ) ul, E4E g ($7]%) 620—10 135¢1x194% x190= 894 4,074 4,968
ISEANLH2Y 100,000 1,470,750 1,570,750
TEEXS A=Y 100,000 1,470,750 1,570,750
1. 9N a8 G 100,000 0 100,000
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SRR S R ] (9] D)
o9 T AT e . e 125739 [ 201649 714 | 20169 H%F
A A} - R - (B) o 2k (A) 4k (A+B)

7}, 25 620-03 |7,200,0009¢ X101 = 72,000 72,000

U, s 620-03 |9,000,000¢ X 21= 18,000 18,000

o A Hnpsstw 320-02 |5,000,0009 x 27] g= 10,000 10,000
A/ASEF 299,366 668,331 967,697
T2 & 199,366 581,803 781,169
fIgmA=EA RO | 199,366 547,406 746,772
1. SR FA 7| FLUA 8= 199,366 547,406 746,772

7} F2AA A O 3} 138,944 407,871 546,815

) olElHdx 36,740 36,740

7h Al’dH] 33,360 33,360

(1) Aerapa-zar 420-03 |11,120,0009 x 32 = 33,360 33,360

h) A Rgn) 420-05 |33,360,00091 x1.14%= 380 380

th) 7]5o] ) 620-03 |3,000,0009 x14]= 3,000 3,000

2) ol &H% 78,515 78,515

7hH A A] 420-02 |69,920,0009 X 8.745% X 80%= 4,891 4,891

) AJAn] 69,920 69,920

(1) ZA7FA019 ZA} 420-03 [69,920,0009 x 12 = 69,920 69,920

th Al E-n] 420-05 169,920,000¢ X 1.008%= 704 704

b 7]5to] ) 620-03 |3,000,0009 x 124= 3,000 3,000

3) A4tk 5,102 5,102

7h Al’dH] 5,040 5,040

(1) YA E DX WA FAF 420-03 |180,000€¥ X 28 m'= 5,040 5,040

h Al 420-05 |5,040,0009 X 1.242%= 62 69

4) ol F% 18,587 18,587

7hH A AM] 420-02 390,240,0009 X 5.954% X 80%= 18,587 18,587

U =g tgE 60,422 139,535 199,957

1) =585t 620—03 [152,219,0009= 51,854 100,365 152,219

2) =g 8,568 11,450 20,018

7hH 29 620-03 |20,018,000¢ = 8,568 11,450 20,018

ZHEASH 3 &5 100,000 75,198 175,198
ASd 3 AL 100,000 75,198 175,198
1. 71 A5 3] 100,000 60,930 160,930
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AR R S = AR E = S R (Sl @ H9)
A A A (B) o AH(A) o4k (A+B)

i A E S R 100,000 40,000 140,000

1) &98% 210-01 |172,9409 X 25% x 48] = 6,294 11,000 17,294

2) AldArE R 210-07 [10,0009 x1,746™ = 9,460 8,000 17,460

3) Al xlaE 210-07 |300,0009 % 1t x99 = 29,700 29,700

4) el Z=akobA 299 n) 210-15 |400,0009 X 270544 x 63] = 4,800 4,800

5) 7H2H) 310-01 |1,0009 % 4,242% x 53] = 9,210 12,000 21,210

6) IAbrE 310-01 |30,0009 x 47 x 2523] = 21,240 9,000 30,240

7) A ) 19,296 19,296

7hH 258t 620-03 |2,412,0009 x 8= 19,296 19,296

sy A A AL EE A204,958 59,681,996 59,477,038

st w--gu| A A143,576 32,263,709 32,120,133

st u|A Y A143,576 32,263,709 32,120,133

1. 7| E-&9gH) A243,576 32,019,019 31,775,443

7F 629 620-02 |2,505,587,000¢= 34,605 2,470,982 2,505,587

v 253t 620-02 |21,785,126,0009 = A271,528 22,056,654 21,785,126

t}, 2w 620-02 |7,484,730,0009 = 6,653 7,491,383 7,484,730

2. 87| e} u) A Y 100,000 244,690 344,690

7F #AMAFA A 70,000 99,882 169,882

1) =5t (61) 620-04 [135,000,0009= 70,000 65,000 135,000

v S5 a8 E S 30,000 30,000

1) $¥% 620-04 |30,000,00091 = 30,000 30,000

AFH A A A 4 £A61,382 27,418,287 27,356,905

YA AEA L £61,382 5,016,131 4,954,749

1. U AR EERE 261,382 5,016,131 4,954,749

7}, & 7] B3| 620-09 |4,954,749,0009 = ~61,382 5,016,131 4,954,749

sty -So] AN A A A 809,363 16,373,519 17,182,882

g mAR ] PN 692,233 968,737 1,660,970

st A|dFNE 692,233 968,737 1,660,970

1. AFFLYNE 692,233 818,737 1,510,970

7F B ASE 692,233 127,282 819,515

1) o8N A F5T 692,233 692,233

7H A AN] 420-02 1650,260,0009 X 4.3919%= 28,559 28,559
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(9] - )

53

20164 7173

2016 H=F

AEIRS, Al e B AH(A) | AHA+B)
) AlAdn] 420-03 650,260,0009 x 124 = 650,260 650,260
o 7ra) 420-04 650,260,0009 X1.3699%= 8,908 8,908
Zh) AR 420—-05 650,260,000€ X0.6929%= 4,506 4,506
117,130 15,404,782 15,521,912
gAMA 117,130 15,404,782 15,521,912
1. ﬂ—,—%?éﬂ{/,\j 117,130 1,664,624 1,781,754
VA Eot=1 12,000 386,750 398,750
1) A]Adn] 12,000 366,520 378,520
7 e x 420-03 [120,0009 X 100m= 12,000 12,000
U =AM 20,000 53,118 73,118
1) AlAdH] 20,000 52,556 72,556
7H e 420-03 10,000¢ X 2,000m = 20,000 20,000
o} dAE T 85,130 85,130
1) A Am] 420-01 79,625,0009 X 6.913%= 5,505 5,505
2) AAdn) 79,625 79,625
7P olglgshx 420-03 |3,250,0009 X 24.5m= 79,625 79,625
LEYRE 183,132 3,367,530 3,550,662
ISPA 101,040 2,871,830 2,972,870
2,200 11,595 13,795
I IR - h=Ru o) 2,200 1,980 4,180
. ZSY YA X YA 2,200 0 2,200
VAT A ) B R R B RS 2,200 2,200
1) 998= 210-01 39,0009 X 5% x 23] = 390 390
2) I+ 210-06 [80,0009 x10g x23]= 1,600 1,600
3) 21n] 310-01 |7,0009 x15% x 28] = 210 210
77,760 75,324 153,084
=54 77,760 75,324 153,084
. 71} A A & 77,760 0 77,760
7} AR E R Q) 410-01 [270,0009 X 288m'= 77,760 77,760
Z1 752 g 20,000 21,818 41,818
N3-S Fo S 20,000 21,818 41,818
. SR 8 5 2o 34 3} %] 20,000 13,800 33,800
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ARt B et e S R A S R (Sl @ H9)

Hopnm R 9] A - ApeI e B s 1257 4 2016 717 | 2016 #HF
RS Abel A} N o v - (B) of| A+ (A) | AH(A+B)

P e R AR R R e el 20,000 7,300 27,300

1) 471453 20,000 7,300 27,300

7H 98 210—-01 |81,000¢ X 20% x23]= 3,240 3,240

W) S (X 3] &} ¥ 2] 210—06 40,0009 x 29 x503] = 4,000 4,000

h 3 (AFE A 210—-06 |150,0009 X1 x23]= 300 300

2 214] 210—04 |7,0009 x80% x 33| = 1,680 1,680

vh) e 210-03 200,000 X507 = 10,000 10,000

up) & 9] 3] 230—02 15,0009 X 267 x 23] = 780 780

Al AL &g 1,080 320,626 321,706

A A # e 1,080 320,626 321,706

1. A A FR A 4 1,080 320,626 321,706

7F AP AT E A A 1,080 1,080

D 953 1,080 1,080

7hH 71 & 210-06 |80,0009 x 1% x 9= 720 720

) %3} 210-06 40,0009 x 19 x9% = 360 360

of v H] L 7] €} 82,092 0 82,092

oAH)H L7 et 82,092 0 82,092

AANE=T 82,092 0 82,092

1. AXNEZE 82,092 0 82,092

7F AR A B 27 s gkt gk 82,092 82,092

1) d7|=321] 710-02 |7,456,0009= 7,456 7,456

| 2) AFAFA LA TAL 710-02 |74,636,0009= 74,636 74,636
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